H28 EIFE&B#

=)

B |EEH xR HERE BEE E5=E
7818 | &
728 |
7838 | H
7A4H | B
7858 | X
7H68 | K
7878 | K
7888 | €
798 | £
78108 | H
7A11B | H
7R12H | X
7138 | K
7H14H | K
7H15H | &
7H168 | + | Bh/EY 179 151
78178 | H =l 245 355
78188 | A gt 998 910
7198 | XK fEtL 130 143
7TA208 | K | Eh/EY 162 91
7821H | K 58] 33 20
7H228 | & 5] 53 20
7H23H | £ lEh 175 198
78248 | H fEtL 462 697
7HA25H | A B 286 188
7H26H | X =\ 74 39
7H278 | K = 109 88
7H28H | K fEh 333 335
7208 | € fEh 325 398
7H30H | + B 482 865
7H31H ] H fEt 291 637

=1 4,337 5,135




H28 EIE &

(&)

B |#EH X5 HERE SEIESD &%
8g18 | H fgtL 140 180
8A28 | X Bh/EY/M 135 166
8A3H | K | Bh/ &Y 160 218
8H4H | K EBEh 338 528
8A5H | & BEh 365 501
8H6H | Rt 321 631
s8A7H | H BEh 463 1,026
g8H8H | H et 204 337
8H9H | %X Bh 274 524
8H10H | K B 294 546
s8A1IH] K Eh 327 686
sAE | & iEh 294 717
gg138 | + BEh 274 833
8A14H | H lEh 251 757
gA1SH | A | Bh/EY 267 609
8A16H | X | EEh/EY 139 379
s8H178 | XK fEh 162 481
8A18H | K IBh/EY/M 117 180
B8A9AE | & | BBHh/M 222 497
gh208 | £ | EY/E 49 110
8218 | H B 320 881
8H22H | A 58] 0 0| ERDAHS
8H238 | % Eih 62 60
88248 | K EEh 122 216
8H25H | K fEh 229 438
8H268 | £ Eh 268 422
g8A27B | & =Y’ 85 182
gH28H | H =\ 58 74
8A208 | A [En/EY/M 54 61
8A308 | X E2Y/M 44 64
8H31H | K fEh 301 533

aat 6,339 12,837




H28 EIEH&BH

(&)
Bff |®A| X8 BEEE ELE %
918 | K fEh 141 221
928 | & | Bh/EY 95 119
9H3H | + | Bh/EY 210 479
9H48 | H Eh/EY/E 186 322
=X 632 1,141
HWEE 11,308 19,113




H29 EIEEH
=)

Bt |EH XK= HERE HE)E 55
718 | =
7A28 | H
7838 | B
7H48 | X
7H5H | K
7H6H | K
7B | &
7888 | +
7898 | H
78108 | A
JENE | X
7H12H | K
7H13H ]| K
7148 | &£
7158 | En 329 530
78168 | H BN 415 951
78178 | E BEh 906 841
7H188 | X | EY 72 85
7H198 | K £ 110 105
7H208 | K fEtL 111 132
7A21H | £ fEt 217 219
7H22H | + B 296 442
7H238 | H =Y/ 246 482
78248 | R =) 176 183
7H258 | X fEtL 113 215
7H268B | K | EY/W 31 26
7H21B | K | £Y/M 67 73
7H28H | & | Bh/EY 162 236
7298 | + | EY/BBh 329 530
7308 | H [fF/EY/BEh 160 244
7A318 | A fEh 227 339

= 3,967 5,633




H29 EIE&H#

(&
B |BEEHR xR HERE SEIES k=
8A1H | X £/ 17 95
8g28 | K = 78 87
8H3H | K =l 126 154
8H48 | £ =Y 111 164
gASH | £ | EYU/Bh 158 240
gA6H | H | Bh/EY 334 821
878 | RH flEh 216 315
8H8H | X EBEh 81 115
gH9B | K fEt 323 616
8A10H | K =) 185 220
sH11B | & =Y 94 90
sH12BH | £ | EEh/EY 115 148
sg138 | H BEh 413 941
g4l | A | BY/FE 101 115
8HI5H | X =Y/ 42 41
8R16B | K | EY/M 0 0| #BKH
g8H178 | K =Y 91 99
gA1IBH | £ | Bh/EY 76 166
sA19H | + | Bh/EY 103 249
8H208H | B | Bh/EY 164 295
8H21H | A Bt 127 219
8H22H | X BBt 160 278
8H238 | K B 306 709
8H24H | K B 226 337
8H25H | & fEtL 274 385
8H26H | * BEtL 236 605
8H27H | H fEh 270 696
8H28H | H EBh 152 209
8H29H | X gt 226 337
8H308 | K AL 236 384
g8H31B | K 55 0 0] #HBEKiH
= 5,101 9,130




H29 EfHE&#

(&)
B+ |BEH KR HERE BEE 55
9818 | £ =Y 0 0] #B{Ki5Z
928 | + EUY/M 0 0] #¥BKH
9H3H | H FE4L 233 542
=% 233 542
=1 9,301 15,305




H30 EIE&#

(&)

Hft |FEH XK HERE EEED 55
718 | B

7828 | A

7H3H | X

7H48 | K

7858 | K

7H6H | &

778 | £+

788 | H

7H9H | H
7H10B | X
7811 | K
7R12H]| K
7A138 | £
7148 | * B4l 325 516
78158 | H fEh 511 996
7H16H | H fEh 1,032 904
7H17H | X FE4L 74 113
78188 | Xk B4l 97 123
7H19H | K B4l 80 105
7H20H | £ B 250 131
7H21H| * BN 377 471
78228 | H lEh 501 924
7H238 | H ENn 278 330
7H24H | X BE4L 257 320
7H25H | K BEAL 212 300
7A268 | K ah 234 230
7H27H | & Bl 197 217
7H28H | + =Y/ 0 0| ERADAEHIE
7H29H | H fE4L 270 393
7A308 | A | Bh/EY 158 239
7318 | X LY 237 350

=1 5,090 6,662




H30 BEEEE3

(&)
B |HEH R HEgE HEE HZ

s8A1H | K EEh 228 340
8H28 | K Eh 237 350
8H3A | £ AL 148 320
g8H4B | £ Bl 265 478
g8A5H | H BAL 364 807
8H6E | H fFEh 143 251
s8A78H | X 58 27 35

s8H8H | XK 58 0 0| EEDAFIE

8H9H | K | EY/BEBh 0 0| BRADASIE
sSH10H | % a4l 219 445
sA11H]| + | Bh/EY 273 483
s8H128 | H =l 167 381
8g138 | A =) 254 624
s8H148 | % Bt 260 723
8H15H | K BAL 315 778
8H16H | K BN 214 433
B8A17A | £ | Bh/EY 144 302
g8g188 | + EEh 162 398
sB198 | H fEh 226 562
8H20H | H = 87 69
sA21B | X | Bh/EY 128 189
8H228H | K B 217 401
8H23H | K AL 168 257
8H24H | & [M/EY/HEh 46 45
8H258 | £ BEh 223 520
8H268 | H EEh 412 843
8827H| A L 157 352
8A28H | X | E/EBn 85 120
8A29B | K | E/FBh 132 110
8H30H | K AL 201 352
8H31E| £ | Bh/& 270 383
= 5,772 11,351




H30 BIsH &%

- =)
B |BER P! EERE EEYED ik
918 | £ | =/B/E 101 174
9828 | H =) . 56 44
=k 157 218
=1 11,019 18,231




